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Fiils Test Rooklet contains one hundred and fortvfive (20 Part* A 50 Parf *B" & 75 Part

ST Mudtiplie Chibice Cuestions (MCOs). Y ou are mquir:& 10 answer & maxinibin of 15,35
und 25 questions from part “A" “B° and °C” respectively. | more than required number if
quiestions are apswered, only first 15, 35 and 25 guestions In Parts "A" *B” and *C°
respectively, will be taken up for evaluation. '

2, OMR onswer sheet hus been prsy ded separately. Before you stwt filling up your
particulars, please ensiire that the bookl contains requisite number of pages and tht these
are not torm o mutilaed, 1S ﬂ.‘:&ﬂqﬁlg\‘i‘aql.rcst the Invigilator to change the booklet of
the same code. Likewise, chuck the OMR answer shect also. Sheets for rough work have
heen appended to the test bobkiet. N _

3. Write your Roll No., Nanie atd Serial Nunber ofthis Test Booklet on the (OMR answer
sheet in the space providéd. Alsa put your signatares in the space carmarked.

4, You must darken the apriate circles with & black ball pen related to Roll

tumber. Subject Cote, Booklet Code and Centre Code on the OMR auswer heet. 1
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ART/PART- A *
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1. OF four agents Alpha, Betn, Gamma and
Delta, three huve to be sent together on a

mission, )
together, Beta and Gamma cannot go together -~

If Alpha and Beéta cannot go

and Gammg and Delta eannot zo topether,
then which of the following hiplds?

I. Any three pgents can be sent,

2. Alpha, Delta-and any one out of Bets

and Gamma can be sent.

3

3, Beia, Gammaand any one oul af Aﬁh
and Delta can be sent
4. The mission iy impossible.
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[E Rt el o o e -
TFAT 21 T 6 AT

10em:
10cm

: { | 40em
7
% ) |
40 ¢m ——

I, 8000 2. 1000
3. 4000 4. 6000

An open rectangular box is made by
excluding the four identical cormners of a picce
of paper us shown in the diagram and folding
it-along the dotted lines:

10em

10cm VA

: 40em
1
oo y
40 cm ———
The capacity of the box (in em’) is
1, 8000 21000
3. 4000 4. 6000
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B 2% 239
3. 4% 4, 5%
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4.

5.

A monkey climbs g tree ta eat fruits. The
amount of encrgy -gained from eating fruils
and the energy  spent in climbing on
different branches have a relationship shown
i the Agure.

|
8
&

]
G
0

, 0 Energy spent

The tatio of encigy gained to energy spent

will be the maximum

|. at a point wheré the slape of the curve is
the maximut

2. at a point where the slope of the curve is_

Uity
3. at a point on the curve where the tarigent

~ passes through the origin
4. at the highest point on the curve

v & o ward B 10 372w 6T 00
s A fR &1 A 6 A
Fomy Foreer et E FeTTe W)
A, SH B WIS I OATET W)
TS H W A
B. T #@ Wie WrA wiernT 8 s aw
wis | 5 24
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D. T/ 5 7 73 3
TAH § FI-AT 6
. BFaETC
3. BEUTD

The length of a cylinder is measured 10 times,

yielding 10 distinet values, For this set of

wvalues, consider the following statements.

‘A Five of these values will Hie above the
mean and five below it

B. Five of these values will lie above the
median and five below it

C. At feast one value will lic above the mean

D. Al least one value will lie st the median

Which of the stajgments are necessarily

correet?

1. Band €

3. Band D

2, Aand C
4 A CandD

3-CH

6. B g #, O F7 &, 2PA0 = 40°,4PBQ =

30° ey AR W LA0R = 220°,

wa £AQE BT _
. 70° 2. 80°
3. 60° 4. 1107

In the given circle, O is the centre, £PAD =
40°, £PBQ = 30° and outer angle
£AQB = 220°.

Then 2AQH is
1. 70° 2. 80"
3. 60° 4. 110°

Wit Jt Tl § 26 A § B AT 3 3T G,
auT Gy #gTd W1 At w3 R e
w7 # |qAHIT A EFC Gy T AT 5
qifRAT 10% & 9=t G, f 20%, 9 A
qaﬁmmﬁwﬁﬁr@ﬁ

10% 2. 20%
3- 28% 4. 30%



7. A canal gystem is shown in the figure 9.

Watet flows Trom A 10 B through two
channels. Gates G, und G; are opérated
independently  to regulate  the  flow.
Probability of G, to be dpen is [0% while ihat
of Gy is 20%. The probability that water will
flow from Ao Bis
1. 10%

3. 8%

HYZTE ¢ AT FTr A 0F A v A7 =
ATer AT 21 AAAF yg 918 el W 2,
F TR AL AT AR ForE f A
s Fvne A sz a0 W fraae A e
W T A AT
It

3.t

2 W%
4. 30%

20 A
4. 2nt

8. A lobg riam of paper of thickness €48 roll
tightly, As the roll becomes largér, the lengt
of the paper wrapped in ane turd Cxeeeds the
length in the previous tum by
| -

9.

final

1.

1.

Pomt 4 on # wheel of radius » touches the
larizontal plane at point 2. It rolls without
slipping, il point 4 is at the highest position
in the first wrn, Whint is the final distince AP?

fimal

initial

2r

N (R
ri (4 4 n?)
2ryf (1 4 w2}

s sty Fiferr & S Sesmr FiieeT

= Mg =

Iﬁﬁ?@ﬁﬂmﬁqmm#m%tﬂﬁmﬂm

acterial cell, a pratein is synthesized at
acation i the cytoplasm. The protein
sach one pole of the cell for its
ate function. The protein reaches the

T AP T 22 T )23 ¥ S W
AAT-AFT ATH] % ZHE] 9 52 AT 81 WA T
W HEA FEH W ¥ A4 & werdt g
zed % w7 oy ® e offem i g0

I 0 2,30

3. 70 4. 90

A precious stone breaks into four pleces
having weights in the proportion 1:2:3:4. The
value of stch & stone s proportional to the
square of its weight. What is the pergent loss
in the value incurred due to breaking?

B 2.-30

370 4,90
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4.

U AT TN FE A dgre wad 6 7 8
forz # T wrE gy e B wfed Pew Al A
2z 72 21 41 7 P Pz A wedt 317 5
# i v e T
1. 8
3,32

2.24
4. 60

Two runters starting together tun on a
circular: path taking 6 and 8 minufes,
respectively, 1o complete one round. How
many mimues later do they meet again for the

first timme on the start liné, assuniing constant

speeds?
1. 8 2 24
3.:32 4, A0
Farerrfiat grey e o v Afirdi w7 Fe
o myyeofit 3 e 3
A 0.1
B 0.4
C 0.3
D 02
et # Frenfinat 1 =gE WA FE w1
Al
1.2 2,4
3.8 110
The distribution of grades by
in & class is
Grade 0
A 0.1
B 0.4
C 03
D 02 |

What is the least possible population of the
class?
2
5

2.4
,:4_ in

;ﬂ- ‘H’E‘!TE xi.:_tz,._xs ".'Ig fﬂr{?{ﬂ wH ﬁ '#,fi
T St m Ty WSS s W R
stfirg 21 st 7 5 #-ar 7w &2

3-C-H

14.

. AVerage (Xy, Xz ... Xg,m) > m 74T
Average (X2, X3, .. Xg) > M

. Avernge (i, X v Xg, 1) <1 AT
Avernge (X7 Xy - Xg) =M

Averige (i, 23 - X, 1) = w747
Avernge (X3, Xy, --Xg)=m

4. Average (Xy, Xz 1 Xg, ) < M
Average (Xz: ¥z - Xgl =m

[

L

Thie fiine numbers Xy, Xz, X3 .« Xg, @n¢ in

ascending order. Their average m is strictly

preator thanall the  first  eight  numbers.

Which of the following is true? _

1. Average(¥y, Xz ...Xg,m)>m and Average
{"._1-1,13__, . Xg)=m

2. Average (X3, Xy . Xgm)<m and Average
(g X3, Xq) < T

3. Average (X, %5 .. Xg, 1) = 111 and Average
(X2 X3: - Xg) = M

4, Average (Xy, Xz ... Xg, M) < m and Average
oy, g, Xg) = T

15, = F i o B wfEEr, mersn A

A w1 ufafatis $71 87

b &

15. Which ameng the following disgrams

represents women, mothers, human beings?

1 2




16. wmwmwm&wmwéag
B & sfmar me o &
iR a2 A 7 F Aed § (wa)
AT o 5 vk w2 & T (1)
fresr 3 ' =0 6t Freaf 29
b F-1 WET & FA 1] e R
2. FAF- || HE 2O RG- | A &
3¢ FrT, T | L, e
4. wgA- qur | F gz R o ®

AT Tt

16. A boy and a girl make the following
statements, of which at most one Is correct:
The one in a white shint S “1 am & girl™

(stmement-1)
The one in a blue shirt says: “1 am ¢
(statement-11)
Which of the following is the
infetence? _ _
'IL Sfﬂtmﬂll'll'*liﬂtmﬁﬂ .'-.'. T

| ST i 218
3009 . 20

I8, W 12iﬁ&ﬁrﬁm T Ay i A

oAt & o w2 i 7w e St B
ufE avafeE 3 7 sl A, 3 v W=
o faay, A AT % o & oA IR R

1. 144 2, W12
3. 1i36 4. 1i3S

i3 vz et T e
ST AL R 2 A T AT

L : THET # Ay, e ¥ &
2. .Smt:mm—lihmmal bt state o “T:ITWM
3. 'Both the statements | and l T IAT AT AT AT ST
4. The correctness of the statem ﬂmﬁ?ﬁﬁﬁﬁmmmﬁ

I cannot be ATHT AT FT73 I

17. Fra e o fsr

L7 2,18
3,19 4. 20

17, How many quadriliterals does the following
figure have?

3-C-H
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19, Same aliens obsérve thit roosters call before
suprise evety duy. Having no other
information  abéut roosters and  sunrises,
which of the following inferences would
NOT be valid?
|. Rooster-call and sunrise may be
independent eyclic events with the same
periodicity _

2. Both may be triggered by a commuon
caute o

3. Rooster-call may he causing the sunrjse

4. ‘Sunrise eannot be the cause of rooster
call as the rooster-call precedes sunrise
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20.
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11.

1 o vefe Frew arET w3 ST
# Fzem A sww oo s & oww B

Mwwﬁqﬂtmﬁﬁaﬂ#mﬁm
1.3
3.5 4, ?

Twenty-one litres:of water in a tank is to be
divided into thrie equal parts using only 5, 8
and 12 litre capacity cans. The i
number of transfers needed to achieve this is

1.3 2.4
3.8 4.7
HATT/PART- B

raTsTraEe [Az ¥ waw T A eyt e e #
o BT g

|, T 6-mreEE

2. IR |-

3. TR

4, TR A TR 6-FER

glucose I.mits as
I. plucose 6-phosphate
2. glucase |-phosphate

2 ¥ K #mﬂi’rwﬁ

3. Ko Na' et st e afaf
AT AT

4, v Frmyfteay o i g ot TEA W
Fadt Fareay W wi T o

The Na'/K' ATPasc pump is found on the
plasma membrane of most animal cells: A
mutation in the intrinsic phosphorylation site
of the pump s most likely to affect

s

23

%

25

I. the sutward movement of Na“only.

2. inward movement of K only.

1. both the inward and outward movement of
K and Na’.

4. has no effect on pump activity but affects
its stability.

g w0 ForearergAfig W e R
o W e Ruifer gmr

1. = o feafa qrer

2. e % gt

3, -UTER G '

4. g T A

The site of the division plane during
‘eytokinesis of animal cells is determined
1. by position of nucleus:
2. by the centeal spindie.
3. by the pre-prophise band.
4. randomly.

24, wnafie s & Sraties Fw W O
ﬁ%ﬁﬂz waforar-rfirer e waffm-atoer
ot st b & g SR e

u&hﬁﬁrwmaﬂﬁmm
I 2. fifows
3. Wt 4, #EW

To prepare individual tissue cells from a
primary culture, the cell=cell and cell-matrix
interaction must be broken, To achieve this,
one would NOT use:

I, EDTA 2

Trypsin
4, Sepurase

FI7 W AT AvEA T AT o

Prafafira 7 @ e 7wl 87

1, S i gy de==y T F AT
& vy Erd 3

2. W w7 S, G StEEee A
3 1,65 WHTE % AT ST e g
w1 # safen 2T &

3. w30 AArAtEs ¥ Ay T &, T AT
aff e 6 =y AT s 2
Hwte 2 &1

4. WA # wA-ziitae fgeen = afEentEm
ez At & s S i et
AT T aTET AT )
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26.
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Which one of the following statements is
NOT true about nuclensomal orgatiization of
mﬂ.’ particle?
. The typical structure of DNA is altered in
the middie of the core particle.

2. In core particle, DNA is organized as flal
super helix with 1.63 tums around the
Ristone octamer.

3. While forming 30 nm fibers, generally 6
nucleosames per tum organize into @ two-
start helix .

4. The N-terminal histone tails in a core
particle are strictly ordered and exit from
the nucleesomes between tumsof the
IINA.

afirpfamret g, RNaseH Fm fre

TETS T A qE 2N TEATA A A T T WA

Wt SO FrEHT S EEET A e —

I ﬂmwﬁmﬁﬂﬁ'ﬁﬁ*
7 fwfw v T B

2, 2 e AT TR IS W AT
st it Frefas e w2

B.ngmwmﬁmﬁml‘ﬁ%ﬂ'
fawfEa s wear 51

4. RNascH #7 b ﬁrra-qﬁwii
ST FTSET T WO O AT B A
afeafa 7 sz BT &

During replication, RNusell removes alt of
the RNA primer exeopt the ribonucleotide

because

1. it cin degrade
5t end.

2. ivean ohly €l
ribonucleotides.

3. it can degrade RNA and DNA from their
3' end.

4 activity of RNuseH is inhibited by the
presence of duplex conlaining both strands
as DNA,

s sty & Fa fm o et it 5 3

¥t =y w7

I.. T S e | S iy
T 3, Rt . JTAT SR g

2. gt wpE T=res ¥ B a-gEa
AT A ST A 3

3-C-H

27,

28,

3, ey st ot (st 4wy o
g wfra &

A, srrafir arsmET i sftaT weet & e
T, \p A FATETT AT

Which one of the statements on protein

conformation, detailed bolow is:

INCORRECT?

I. L-amine deids can oceor in Type I” fi-

wms where §, 4 are both positive.

A peptide rich inproline is unlikely 1o

adopt a-helical structure.

. Proline residues have high propensity

to occur i fi-turrs.

4. 'Tho dihedral angles b, w of amino acids
in uniolded proteins are exclusively
positive,

=]

b

ST T T A

|, TETERR gwTEET R e
frarefraarsresmee s Mg adi e &

2. sy st O S SR W A W

Ffi T f
3. S+ P s & e ST
wwmwmwwﬂi‘rﬁ P¥

4. mmﬁﬂﬂkﬂpr—ldxm § W
K = 9 107" M &, Fenfit sifimar e
it <fmr st and 2

(Phoose the INCORRECT sunement from
“thie following statements mude for an enzymie-

catalyzed reaction

I, ‘The kinetic properties of allosteric enzymes
do nol diverge from Michaelis-Menten
behiiviour.

2. In feedback mhibition, the product of
pathway inhibits an enzyme of the pathway.

3. An antibody that binds:tightly to the analog
of the transition state intermediate ol the
reaction S—P. would promate formation af
P when the analog is added to the reaction.

4. Anenzyme with Kear = 1.4 210" s and
K= 9107 M has activity close to the
diffusion controlled limi.
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3.
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Fawres Fman i s g & e e
asﬁa!ﬁ:mznﬁwm C 20% an AT
it sty T AT feT 27
L 20
3. S0%%

2. 30
4. 60%

On sequence analysis of a double stranded
DNA, the results showed the content of
evtosine, € was 20%. What is the amount of

A and T put together?
I 208, 2. °530%
3. 50% 4. 6%

gEfeaites s s g 2 w5
ST T ATNCOROAT 1 S WremE ATy o
w are & FEmtAti & & Wiy a7 e e 27
1. TE T AT 3 3w
FHH F AT Fwal #
2, mEAwATE iRl = s ghEn 5 A
At 2l
3. g afafaft r sty 1 afE
YCRATEAT GT7T BT AT (e 8 Ty weer &
4, wg srzATAT h AOTH FvrEs & A
TN AT )

. Eukaryotic mRNAs are modificd o NOSSESES A

3" cap structure. Which one of 'f.'- Howir

is an INCORRECT statemenf aboul ﬂw

function ol the 3 cap structure’

1. Itprotects the mRNA from §'—3’
exoribonuclease attack.

2. It focilitates splicing of the nascent
{ranscripts.

3. It protects the tg

by RN Ase 111 Fal
4. It faellitates at
ribosome,
=7 8 5 i urAw I SR i
|, FETH 2, B
3. FearetEE 4wt

Which one of the following does NOT belong.

1o hurman antimicrobial proteing and peptides
at epithelial surfaces forming part of innate

immunity?
1. lzactoferrin 2. Defensin
3. Calprotéetin 4. Nimentin

3-GH

3.

2.

33.

33

Frfafam 7 8 T srea- 2T W AR
=iy wit & w7
|, A=

3. TR HETE AT

=19

Which one of the following best describes
death-upon-detachmem?
1. Necroptosis

3. Extravasation

2. Annikis
4. Metastasis

TR TAATAE. WA HT W] A AR AT T
T AT S Pt W s & i e
R amify vt &1 Frsfarfar & 3w ar T
2

. EHTAT
3. wmmd

2. e
4, TRATEAT

Feuit bats are known 1o harbour-and spread
several viruses that can infect other animals:
and humans. Which-one of the following.
wiruses is NOT reparted to spread by fruit

1.\ Ebala 2. Nipah
4. HIV

54 8ARS

M. ‘%%W—wmw st

35.

ST

- - 2l

w1 & T St
THT W WA 2 ST A e

Wﬂ'ﬂmﬁ&ﬂ
- 2w
4. wyzmfer

hypersensitivity-mediated
asthmiatie nse.  which one of the
ﬁﬂﬂﬂﬁ'ng i thought to contibute
signifieantly 1o the prolonged bronchospasm

3. Ffwi

and build-up of mucous seer in asthmatics?

L Thromboxane 2! Leukoiriene
3 TGFp 4. Chondroitin
w3, gy fmm R gr s

i fr = &1 o e i
STITEE WA WA
1 Fren- AT WA T W
2 Pt amvgEs W
3. Fmam frgrra A
4, wer i ATATy AT g



35. In a human cell line, a
double-strand DNA' breaks are nepaired . by
non-homologous end joining (NHES). An
inhibitor of FLAP endonuclease will affect

1. recruitment of DNA-dependent kinase,

2. gup trimming.,

3. DNA unwinding.

4. pairing of micro-homology regions.

36, fR-wzre il ot # ardey v aTT AT A

-

1. fagrr froan # 92 ot

2. Fagres S i a0 et

3. B smoram & o2 st

4. wﬁwiﬁ&h‘igﬂ*mkmﬁ’fm
HHT T A3 U

36, Sugar puckering in double stranded nucleic

agids is exclusively.

1. C-27 endo in double stranded DNA

2. -3 endo in double stranded DNA

3. €227 endoin double stranded RNA

4. €37 endo in hybrid duplex with one
strand as DNA and the othier s RNA

37. grfirarate

i
=

wﬂmﬂwﬁwmtﬁﬁﬁtﬁv&h
WA AR AT AT e e f HOXDI
e & Fro ¥ F A
SR FUT B
I ﬁ-{m‘rﬁﬁﬁm
F#wﬁgiﬁwﬁ -
3. w=reaaTer i 4
4. frsyr g7 ey

37. Homeobox trmnscription factors  (Hox
prateins), play important roles in specifying

whether a particular mesenchymal cell will

become stylopod, zeugopoed or autopod.
Based on the expression patterns of these
genes, nomodel was proposed ‘wherein these
Hox penes specify the ideatity of a limb
sregion. . What would be the observed
phenotype for human homozyveous for a
HOXDI3 mutation?

I. No zeugopod formastion.

2. Abnormalities of the hands and feet

wherein the digits fuse,
3-L-H

a large fraction of

a8,

R

-

3. Deformities in stylopods.
4. Mo femiror patella formution,

fFrutatEs 7 & v vt 7§ s Fad o

FfaT #7

. AT 9T o= e

2. mffertat f qgem S
FTET AT

3. wwvers T gfder ¥ o 3T vew g

THIWIY

‘Which one of the following describes the

function of silicon in plants?
1. Constituent of amino acids

2. Comributes to cell wall rigidity and

clasticity

3. Constituent of the photosynthesis reaction:
centre

4. Maintenance of cell turgor and elestro-
neutrality

it o 7 afir (o) A e T e &
E..i{iﬁtﬁwm

‘Mot df the plant disease renmncc (R) gene
pﬂnﬂuc’és contain:
l G-Box domains
Trunﬁmph on repressinn domuins
Si' Tiencine-rich repeats

4. Enzymatic activities

YT o wEETe T o W raefae 6 @ vt o
S Tl &7

1. dfim 2, it

3. s, 4.9

Out of several gibberellins identified in
plants, which one of the following s NOT
hioactive?
1. GA,
3 Gy

2. GA,
4. Gy
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42.

43,
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ATEZITAE, UF Fiew STAEHT U, Na ® |. Cystic fibrosis transmembrane regulator
NH; T vt ufie & s S Prafafa (CFTR)
i & o oft ary e Fda F o & st 2. Sodium glucose transporter protein |
3 (SGLT1Y
| s (Mo) 3 iusulin_ receptor proteii (IRP)
3. T v
-l 44 et &, 75 i, gy e
4. wrarez (Co)

Fer v rpm#raﬁtm TTRTAT T THT
Nitrogengse, a complex metal containing T T AT R, T A
enzyme is Involved in conversion of N; to I, Rramrer
NH;, Which ohe of the following metals is 2. =Tt TwatatEy
NOT involved in ‘the nctivity ‘of mitro- 3. Tt
genase? ' e
1. Molybderiurh (Mo) bl it i
2. lron (Fe) 44, In certain plants, the mechanism where timing
3. Vanadium (¥} of anther deliispence and stigma receptivity
4, Cobalt (Co) o not caincide to avoid seli-pollination is

el led
Fraffirs witst § & ¥ FEnm e & . dichogamy 2. herkogamy
Forarsfierar sy wren £ 3. monoecy 4 divecy
|, FFmas
2. MTER T mwaammmma:
3. FreTrAwTE
4. ¥R

‘Which one of the following agents cause
relaxation of mesangial cells?

1. Histamine

2, Thrombiaxane As

' mwﬁmwmwm

3. Norepinephrine
4. Dopamine 2. AT apor 3 Weeer srafra e & S0
3+_ o fta o
T HETE WA ST S + ﬁ'ﬁiﬂﬂtw
SR #l
T W I In Xehiopis embryos, P-catenin plays an
mmfﬁﬁwﬁ?ﬂﬁﬂﬁwﬂfﬁm important role i the Dorsal/Ventral axis
AT &7 development, Wiat would you expect if the
1. Fafizs wrowfie g fomre endogenous  glycogen synthuse kinase 3
fefrttanT) (GSK3) is knotked out by a dominant-
2. s v TR Aré 1 negative form of (GSK3 in the ventral cells of
(trsftinedte) the early embryo?
3. T oEw SrE (srEsredh) I. Blocking of GSK3 on the ventral side hus
A, FEF-STET S (i no effect. A normal embryo will form,
2, The resulting embryo will pnly have
A patient comes ta the hospital complaining ventral sides.
of vomiting and diarrhoea. The doctor 3. A second axis will farm.
supeested that the patient ke glucose and 4. 'Vhe dorsa) fate is suppressed

electrolyte solution orafly, Which one: of

following membrane proteins is likely to be

involved in rehydrating the patient?

3-C-H



